
Polar Practice HWK     Name: __________________________ 

 

1.  Convert from Rectangular to Polar Coordinates then graph 

 

A ( –3, 3 3 )   D  ( – 3 , 1 ) 

 

 

 

 

B  (4, – 4 3 )   E  (5, – 5)  

 

 

 

 

C  (0, – 5)    

 

 

 

 

2.  Graph then, Convert from Polar to Rectangular Coordinates. 

 

F  (1, 
2


)    I  (2, 

4


) 

 

 

 

G  (6, 120°)   J  (3, π) 

 

 

 

 

H ( 4, –270°)     

 

 

 

 

3.  Give 3 additional coordinates for the points given. 

 

A)    ( 1, 45º)     B)  ( 2, 210°) 

 

 

 

4.  Find where the two polar graphs intersect. 

 

A)  r = 3;  r = 2 – sin θ   B)  r = 4;  r = 3 + 2cos θ 
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